




Class-VI (Main)/03

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 24.12.2023

CLASS : VI - MAIN EXAM

01. The motion of an object or a part of it around a
fixed point is known as :
(1) Periodic motion
(2) Circular motion
(3) Rectilinear motion
(4) Curvilinear motion

02. Gholu and Molu are playing in a ground. They
start running from the same point A at same
time, in the ground and reach point B at the
same time by following the paths marked 1 and
2 respectively as shown in fig. below. Which of
the following is true for the given situation?

1

2

A

B

Gholu

Molu

As compared to Gholu, Molu covers a :
(1) longer distance with a higher speed.
(2) longer distance but with a lower speed.
(3) shorter distance with a higher speed.
(4) shorter distance with a lower speed.

03. A body repeats its motion after certain interval
of time the motion is called :
(1) Periodic motion (2) Circular motion
(3) Rectilinear motion (4) Vibratory motion

04. What happens to the image produced by a
pinhole camera when we move the back wall
farther from the pinhole ? It becomes
(1) larger and brighter
(2) smaller and brighter
(3) larger and fainter
(4) smaller and fainter

05. The size of a shadow of an opaque object when it
is moved towards to the screen and away from
the source of light :
(1) increases
(2) decreases
(3) remains the same
(4) first decreases then increases

01. fdl h oLrq ; k ml ds fdl h Hkkx dh , d fuf' pr fcanq ds pkjksa vksj
dh xfr dks dgk t krk gS%
(1) vkorhZ xfr
(2) orqZy xfr
(3) l jy js[ kh;  xfr
(4) oØjs• h;  xfr

02. ?kksyw vkSj eksyw , d eSnku esa • sy jgs gSaA os t ehu i j  , d gh l e;
esa , d gh fcanq A l s nkSM+uk ' kq:  djrs gSa vkSj Øe' k% 1 vkSj 2
fpfÉr i Fkksa dk vuql j .k djrs gq,  , d gh l e;  esa fcanq B rd
i gqaprs gSa t Sl k fd fp=k esa fn• k; k x; k gSA uhps nh xbZ fLFkfr ds
fy,  fuEufyf• r esa l s dkSu l k l R;  gS\

 

1

2

A

B

?kksyw dh rqyuk esa] eksyw r;  djrk gS%
(1) vf/ d xfr ds l kFk yach nwjhA
(2) de xfr ds l kFk yach nwjh A
(3) vf/ d xfr ds l kFk de nwjh A
(4) de xfr ds l kFk de nwjh A

03. , d fi aM fuf' pr l e;  varjky ds ckn vi uh xfr dks nksgjkrk gS]
bl  xfr dks dgk t krk gS%
(1) vkorhZ xfr (2) orqZy xfr
(3) l jy js[ kh;  xfr (4) dEi k; eku xfr

04. t c ge fi Nyh nhokj  dks fi ugksy l s nwj ys t krs gSa rks fi ugksy
dSejs }kjk fufeZr Nfo gksrk gS %
(1) cM+k vkSj pedhyk
(2) NksVk vkSj pedhyk
(3) cM+k vkSj i Qhdk
(4) NksVk vkSj i Qhdk

05. fdl h v i kjn' khZ oLrq dks LØhu dh vksj  rFkk çdk' k l zksr l s nwj ys
t kus i j  ml dh Nk; k dk vkdkj  %
(1) c<+ t krk gS
(2) ?kV t krk gS
(3) ogh jgrk gS
(4) i gys ?kVrk gS fi Qj c<+rk gS
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06. A battery is represented by symbol

(1) + – (2) + –

(3) (4) ( )

07. If two magnets are stored with North pole
alongside the North of the other magnet for a
long time.
(1) its magnetic property decreases
(2) its magnetic property increases
(3) its magnetic property remains same
(4) none of these

08. Which of the following is/are magnetic element/s?
(1) Iron (2) Nickel
(3) Cobalt (4) All of these

09. Shapes of artificial magnet is/are :
(1) horse-shoe (2) cylindrical
(3) bar-shaped (4) All of these

10. The filament of bulb is made of :
(1) copper (2) aluminium
(3) tungsten (4) iron

11. A boy observes a tree given in Fig. below through
a pin hole camera.

Choose the correct image seen by him :

(1) (2)

(3) (4)

12. Which of the following objects can never form a
circular shadow ?
(1) A ring (2) A shoe box
(3) A ball (4) A flat disc

06. , d cSVjh dks çrhd }kjk n' kkZ; k t krk gS
(1) + – (2) + –

(3) (4) ( )

07. ; fn nks pqEcdksa dks yEcs l e;  rd nwl js pqEcd ds mÙkjh / qzo ds
l kFk j • k t k; s rks &
(1) bl dk pqacdh;  xq.k de gks t krk gSA
(2) bl dk pqacdh;  xq.k c<+ t krk gSA
(3) bl dk pqacdh;  xq.k l eku jgrk gSA
(4) buesa l s dksbZ ugha

08. fuEufyf• r esa l s fdl esa pqacdh;  rRo gS@gSa\
(1) yksgk (2) fudy (3) dksckYV (4) ; s l Hkh

09. Ñf=ke pqEcd dh vkÑfr; k¡ gksrh gSa@gSa %
(1) ?kksM+s dh uky ds vkdkj  dk (2) csyukdkj
(3) ckj  ds vkdkj  dk (4) ; s l Hkh

10. cYc dk fi QykesaV cuk gksrk gS %
(1) rkack (2) , Y; qehfu; e
(3) VaxLVu (4) yksgk

11. , d yM+dk fi u gksy dSejs ds ekè; e l s uhps fp=k esa fn,  x,  , d
i sM+ dk voyksdu djrk gSA

ml ds }kjk ns• h xbZ l gh Nfo dk p; u djsa%

(1) (2)

(3) (4)

12. fuEufyf• r esa l s dkSu l h oLrq dHkh xksykdkj  Nk; k ugha cuk
l drh\
(1) , d vaxwBh (2) , d t wrs dk fMCck
(3) , d xsan (4) , d l i kV fMLd
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13. A battery is connected to an electric lamp. If one
more identical lamp is connected in series with
the first, what will happen to the current ?
(1) It will decrease
(2) It will increase
(3) It will remain the same
(4) None of these

14. Non metals like .......... and ............ conduct
electricity.
(1) wood and paper
(2) graphite and gas carbon
(3) glass and rubber
(4) graphite and thermocol

15. Metals conduct charges better than wood
because metals have more :
(1) space between particles
(2) negative ions
(3) free electrons
(4) protons

16. Select the unit of length that is used to measure
the distance of stars from the earth ?
(1) Light year (2) Kilometre
(3) Metre (4) Centimetre

17. On a scale the main divisions are marked in
centimetres and each centimetre on this scale
is further divided into 20 parts. The smallest part
of this scale will be equal to :
(1) 0.5 cm (2) 0.2 cm
(3) 5 mm (4) 0.5 mm

18. A few characteristics are listed here :
I. Good conductors II. Tansparent
III. Lustrous IV. Solid
V. Opaque VI. Insulators
The characteristics generally shown by metals
are :
(1) I, III and V only (2) I, III, IV and V only
(3) II, IV & V only (4) II, III and VI only

19. Study the given flow chart carefully :

Mixture filt ration Solution Evaporation Solid
X + Y + Z

Solid
Z

X + Y X

X, Y & Z could be respectively.
(1) Chalk powder, water & sawdust
(2) Salt, water & sugar
(3) Sugar, water & sawdust
(4) Sawdust, water & Sugar

13. , d cSVjh , d fo| qr ySai  l s t qM+h gSA ; fn , d vkSj l eku ySai  dks
i gys ds l kFk Jà• yk esa t ksM+k t k, ] rks / kjk dk D; k gksxk\
(1) bl esa deh vk, xh
(2) bl esa of̀¼ gksxh
(3) ; g oSl k gh jgsxk
(4) buesa l s dksbZ ugha

14. v/ krq, ¡ t Sl s .......... vkSj .......... fo| qr dk l apkyu djrh gSaA
(1) ydM+h vkSj dkxt
(2) xzsi QkbV vkSj xSl  dkcZu
(3) dkap vkSj jcj
(4) xzsi QkbV vkSj FkekZdksy

15. / krq, ¡ ydM+h dh rqyuk esa csgrj  vkos' k l apkyu djrh gSa D; ksafd
/ krqvksa esa vf/ d gksrk gS %
(1) d.kksa ds chp dk LFkku
(2) ½.kkRed vk; u
(3) eqÙkQ bysDVªkWu
(4) çksVksu

16. yackbZ dh og bdkbZ pqusa ft l dk mi ; ksx i F̀oh l s rkjksa dh nwjh eki us
ds fy,  fd; k t krk gS\
(1) çdk' k o"kZ (2) fdyksehVj
(3) ehVj (4) l saVhehVj

17. , d i Sekus i j  eq[ ;  foHkkt uksa dks l saVhehVj esa fpfÉr fd; k x; k gS
rFkk bl  i Sekus i j  çR; sd l saVhehVj dks 20 Hkkxksa esa foHkkft r fd; k
x; k gS rks bl  i Sekus dk l cl s NksVk Hkkx cjkcj  gksxk%
(1) 0.5 l seh ds (2) 0.2 l seh ds
(3) 5 feeh ds (4) 0.5 feeh ds

18. dqN fo' ks"krk, a ; gka l wphc¼ gSa%
I. vPNs l aokgd II. i kjn' kZd
III.pedhyk IV. Bksl
V. vi kjn' khZ VI. fo| qrjks/ h
vkerkSj i j  / krqvksa }kjk n' kkZ; h t kus okyh fo' ks"krk, ¡ gSa%
(1) dsoy I] III vkSj V (2) dsoy I] III] IV vkSj V
(3) dsoy II] IV vkSj V (4) dsoy II] III vkSj VI

19. fn,  x,  Ýyks pkVZ dk è; kui woZd vè; ; u djsa%

X] Y vkSj Z Øe' k% gks l drs gSa %
(1) pkWd i kmMj] i kuh vkSj ydM+h dk cqjknk
(2) ued] i kuh vkSj phuh
(3) phuh] i kuh vkSj ydM+h dk cqjknk
(4) ydM+h dk cqjknk] i kuh vkSj phuh



Class-VI (Main)/06

20. The properties of four different materials
P, Q, R & S are listed in the given figure. Fill in
the blanks with an appropriate option.

Sorting
out

materials

S P

Floats
initially

th n sinkse

Immiscible
with H O2

Opaque

R Q

Hard and
lustrous

P Q R S

(1) Glycerine Chalk Frosted
glass

Stone

(2) Oil Leather Wood
Rubber
band

(3) Vaseline Metal
spoon

Cardboard Cotton
ball

(4) Honey Sponge Water
Iron
nail

21. Properties of three solid substances P, Q & R are
given below.

P  Heavy and non-magnetic
Q  Light and non-magnetic
R  Magnetic

If P, Q & R are of same size and colour then, which
of the following can be used to separate these
particles from their mixture ?
(1) Handpicking followed by filtration.
(2) Magnetic separation followed by winnowing.
(3) Magnetic separation followed by sublimation.
(4) Sieving followed by distillation.

22. Substance x  has a rough tex ture, y is
non-lustrous while z floats on water, x, y & z could
be respectively
(1) Copper vessel, steel spoon and wooden bowl
(2) Sand paper, wooden bowl & petrol.
(3) Pumice stone, jute bag and wooden bowl.
(4) Both (2) and (3)

23. Which of the following process is not an example
of evaporation process ?
(1) Drying of clothes below tree.
(2) Formation of salt from sea water.
(3) Formation of small droplets at the surface of

a bottle containing ice cold water.
(4) Drying of wet hairs.

20. pkj  vyx&vyx l kefxz; ksa P] Q] R vkSj S ds xq.k fn,  x,  fp=k
esa l wphc¼ gSaA mfpr fodYi  fjÙkQ LFkkuksa HkjsaA

P Q R S

(1) fXyl jhu pkd
phuh l s 

vkPNkfnr
Xykl

i RFkj

(2) rsy peM+k ydM+h jcj cS.M

(3) osfl yhu
/ krq dk 
pEep

xÙkk
di kl  dh 

xsan

(4)  ' kgn Li at i kuh
yksgs dh 

dhy
21. rhu Bksl  i nkFkks± P, Q vkSj R ds xq.k uhps fn; s x; s gSaA

P  Hkkjh vkSj vpqEcdh;
Q  gYdk vkSj vpqEcdh;
R  pqacdh;
; fn P] Q vkSj R , d gh vkdkj  vkSj jax ds gSa] rks bu d.kksa dks
muds feJ.k l s vyx djus ds fy,  fuEufyf• r esa l s fdl dk
mi ; ksx fd; k t k l drk gS\
(1) Nkuus ds ckn gkFk l s pquukA
(2) fouksbax ds ckn pqacdh;  i F̀kDdj.kA
(3) ÅèoZi kru ds ckn pqacdh;  i F̀kDdj.kA
(4) vkl ou ds ckn NkuukA

22. i nkFkZ x dh cukoV • qjnjh gS] y xSj  pednkj  gS t cfd z i kuh i j
rSjrk gS] x] y vkSj zz Øe' k% gks l drs gSa
(1) rkacs dk crZu] LVhy dk pEep vkSj ydM+h dk dVksjk
(2) l SaMi si j ] ydM+h dk dVksjk vkSj i sVªksyA
(3) >kaok] t wV dk FkSyk vkSj ydM+h dk dVksjkA
(4) (2) vkSj (3) nksuksa

23. fuEufyf• r esa l s dkSu l h çfØ; k ok"i hdj .k çfØ; k dk mnkgj.k
ugha gS\
(1) i sM+ ds uhps di M+s l q• kukA
(2) l eqæh t y l s ued dk fuekZ.kA
(3) ci QZ ds BaMs i kuh okyh cksry dh l rg i j  NksVh&NksVh cwanksa dk

cuukA
(4) xhys ckyksa dk l w• ukA



Class-VI (Main)/07

24. Sand and pebbles are grouped differently because:
(1) sand is transparent and pebbles are

translucent
(2) sand is smooth and pebbles are rough
(3) sand is rough and pebbles are smooth
(4) sand floats and pebbles sink in liquid

25. What is the application of carbon dioxide
dissolved in water ?
(1) Important for photosynthesis of aquatic plant.
(2) Important for aquatic animals for breathing.
(3) Not important as it causes global warming.
(4) Important for growth of fishes & other aquatic

animal.
26. The materials are grouped into various

categories on the basis of :
(1) similarities and dif ference in their

properties (physical & chemical)
(2) nature, size, shape & colour of materials
(3) solubility, use, transparency and hardness
(4) all of these.

27. Which of the following statements are incorrect?
I. Oil is miscible with water.
II. Air is transparent.
III. Plastic mug floats on water.
IV. Mercury is a good conductor of heat.
(1) I and III (2) II and III
(3) II and IV (4) I and IV

28. A brief information about three substances is
given here.
P : Transparent, smooth to touch and insulator.
Q : Yellow in colour, good conductor of heat and

electricity, lustrous.
R : Man-made material, an insulator, used to

make switches and handles of cooking
utensils.

R, Q and P could be respectively
(1) Water, copper, gold
(2) Plastic, gold, glass
(3) Paper, aluminium, water
(4) Silver, gold, platinum

29. Match Column-I with Column-II and select the
correct answer using the code given below the
columns.

Column I Column II
A. Aluminium (p) Transparent
B. Sand (q) Translucent
C. Glass (r) Dull appearance
D. Butter paper (s) Lustrous
(1) (A-p), (B-q), (C-r), (D-s)
(2) (A-q), (B-r), (C-s), (D-p)
(3) (A-r), (B-q), (C-s), (D-p)
(4) (A-s), (B-r), (C-p), (D-q)

24. jsr vkSj dadM+ dks vyx&vyx l ewg esa j • k x; k gS D; ksafd%
(1) jsr i kjn' khZ gS vkSj dadM+ i kjHkkl h gSaA
(2) jsr fpduh vkSj dadM+ • qjnqjs gksrs gSaA
(3) jsr • qjnjh vkSj dadM+ fpdus gksrs gSaA
(4) jsr rSjrh gS vkSj dadM+ rjy esa Mwc t krs gSaA

25. t y esa ?kqyh dkcZu MkbvkWDl kbM dk mi ; ksx D; k gS\
(1) t yh;  i kS/ s ds çdk' k l a' ys"k.k ds fy,  egRoi w.kZA
(2) t yh;  t arqvksa ds fy,  l kal  ysus ds fy,  egRoi w.kZA
(3) egRoi w.kZ ugha gS D; ksafd ; g Xykscy okfeZax dk dkj .k curk

gSA
(4) eNfy; ksa vkSj vU;  t yh;  t kuojksa dh of̀¼ ds fy,  egRoi w.kZA

26. l kefxz; ksa dks fuEu ds vk/ kj  i j  fofHkUu Jsf.k; ksa esa oxhZÑr fd; k
x; k gS%
(1) muds xq.kksa (HkkSfrd vkSj jkl k; fud)  esa l ekurkvksa vkSj

fHkUurkvksa ds vk/ kj  i j
(2) l kexzh dh çÑfr] vkdkj ] i zdkj  vkSj jax ds vk/ kj  i j
(3) ?kqyu' khyrk] mi ; ksx] i kjnf' kZrk vkSj dBksjrk ds vk/ kj  i j
(4) buesa l s l Hkh

27. fuEufyf• r esa l s dkSu l k dFku xyr gS\
I. rsy i kuh ds l kFk feJ.kh;  gSA
II. ok; q i kjn' khZ gSA
III. IykfLVd dk ex i kuh i j  rSjrk gSA
IV. i kjk Å"ek dk l qpkyd gSA
(1) I vkSj  III (2) II vkSj  III
(3) II vkSj  IV (4) I vkSj  IV

28. ; gka rhu i nkFkks± ds ckjs esa l af{kIr t kudkjh nh xbZ gSA
P : i kjn' khZ] Nwus esa fpduk vkSj bUl qysVjA
Q : i hyk jax] m"ek vkSj fct yh dk vPNk l aokgd] pednkjA
R : ekuo fufeZr l kexzh] fo| qrjks/ h] ft l dk mi ; ksx • kuk i dkus

ds crZuksa ds fLop vkSj gSaMy cukus ds fy,  fd; k t krk gSA
Øe' k% R] Q vkSj P gks l drs gSa
(1) t y] rkack] l ksuk
(2) IykfLVd] l ksuk] dkap
(3) dkxt ] , Y; qehfu; e] i kuh
(4) pk¡nh] l ksuk] IySfVue

29. LraHk&I dks LraHk&II l s feyk,a vkSj LraHkksa ds uhps fn,  x,  dksM dk
mi ; ksx djds l gh mÙkj pqusaA

LraHk-I LraHk-II
A. , Y; wfefu; e (p) i kjn' khZ
B. jsr (q) i kjHkkl h
C. dk¡p (r) l qLr mi fLFkfr
D. cVj i si j (s) pednkj
(1) (A-p), (B-q), (C-r), (D-s)
(2) (A-q), (B-r), (C-s), (D-p)
(3) (A-r), (B-q), (C-s), (D-p)
(4) (A-s), (B-r), (C-p), (D-q)
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30. Look at the following venn diagram and answer
the question.

A
B

Definite 
volume

Definite 
shape

Can be
compressed

C

Which of the following represent A, B, C
respectively ?
(1) Brick, Nitrogen, Water
(2) Marble, Oxygen, Nitrogen
(3) Rod, Book, Oxygen
(4) Tiles, Iron rod, Nitrogen

31. Read the following statements and choose the
correct statements.
(1) A paper weight is hard. It therefore sinks in

water.
(2) Cotton is soft. It can be compressed easily.
(3) Butter paper is translucent. Things can not

be clearly seen through it.
(4) All are correct.

32. Which of the following processes enable pure
water to be obtained from sea water ?
I. Sublimation II. Distillation
III.Vaporisation IV. Reverse osmosis
(1) I and II only (2) I and III only
(3) II and IV only (4) III and IV only

33. Which one of the following mixture can be
separated by first using handpicking method and
then by sedimentation decantation process ?
(1) A mixture of salt and glucose.
(2) A mixture of sugar and water.
(3) Rice containing stones and dust.
(4) Rice containing sugar.

34. Choose correct alternative to complete the given
analogy.
Butter from milk : Churning : Salt from sea water:
(1) Sedimentation (2) Evaporation
(3) Sublimation (4) Filtration

35. Take a small quantity of food item and put 2 – 3
drops of dilute iodine solution on it. Observe if
there is any change in the colour of the food item.
If it turns blue-black than it indicates that it
contains :
(1) Protein (2) Starch
(3) Carbohydrate (4) Fat

30. fuEufyf• r osu vkjs•  dks ns• sa vkSj ç' u dk mÙkj nsaA

fuEufyf• r esa l s dkSu l k Øe' k% A] B] C dk çfrfuf/ Ro djrk
gS\
(1) baZV] ukbVªkst u] i kuh
(2) l axejej ] vkWDl ht u] ukbVªkst u
(3) NM+h] fdrkc] vkWDl ht u
(4) Vkbysa] yksgs dh NM+] ukbVªkst u

31. fuEufyf• r dFkuksa dks i <+sa vkSj l gh dFku pqusaA
(1) i si j  osV dBksj  gksrk gSA vr% ; g i kuh esa Mwc t krk gSA
(2) di kl  eqyk; e gksrh gSA bl s vkl kuh l s nck; k t k l drk gSA
(3) cVj i si j  i kjHkkl h gSA bl l s pht sa l ki Q&l ki Q ugha ns• h t k

l drh gSA
(4) l Hkh l gh gSaA

32. fuEufyf• r esa l s dkSu l h çfØ; k l eqæh t y l s ' kq¼ t y çkIr
djus esa l {ke cukrh gS\
I. ÅèoZi kru II. vkl ou
III.ok"i hdj .k IV. foi jhr i jkl j .k
(1) dsoy I vkSj II (2) dsoy I vkSj III
(3) dsoy II vkSj IV (4) dsoy III vkSj IV

33. fuEufyf• r esa l s fdl  feJ.k dks i gys gkFk l s pquus dh fof/  dk
mi ; ksx djds vkSj fi Qj  vol knu fuLrkj .k çfØ; k }kjk vyx fd; k
t k l drk gS\
(1) ued vkSj Xywdkst  dk feJ.kA
(2) phuh vkSj i kuh dk feJ.kA
(3) i RFkj  vkSj / wy ; qÙkQ pkoyA
(4) phuh ; qÙkQ pkoyA

34. nh xbZ l kǹ' ; rk dks i wjk djus ds fy,  l gh fodYi  pqusaA
nw/  l s eD• u % eFkuk % l eqæ ds i kuh l s ued %
(1) vol knu (2) ok"i hdj .k
(3) ÅèoZi kru (4) fuLi anu

35- FkksM+h ek=kk esa • k|  i nkFkZ ysa vkSj ml  i j  ruq vk; ksMhu ?kksy dh
2&3 cwansa MkysaA ns• sa fd D; k • k|  i nkFkZ ds jax esa dksbZ cnyko vk; k
gSA ; fn bl dk jax uhyk&dkyk gks t krk gS rks ; g bafxr djrk gS
fd bl esa ' kkfey gS%
(1) çksVhu (2) LVkpZ
(3) dkckZsgkbMªsV (4) ol k



Class-VI (Main)/09

36. (i) Glands in the neck appear swollen.
(ii) Mental disability in children.
Above symptoms appear due to deficiency of :
(1) Iodine (2) Calcium
(3) Iron (4) Vitamin B1

37. Choose the odd one out :
(1) Stigma (2) Style
(3) Filament (4) Ovary

38. What is venation ?
(1) Arrangement of veins on the stem.
(2) Pattern of veins on the leaf.
(3) Arrangement of seed in the ovary.
(4) More than one option is correct.

39. Choose the incorrect labelling in the given
figure.

A

B

C

(1) A – Thigh Bone
(2) B – Hip bone
(3) C – Ball and socket joint
(4) None of the above

40. I. Snakes have a long backbone and lot of thin
muscles.

II. Earthworms lack bones, they can contract
and relax their muscles to move.

III. The shell of a snail is a single unit and does
not help in moving from place to place.

Choose the correct statements.
(1) Only I (2) Both I and II
(3) Only III (4) All of the above

41. Fill in the blanks :

I. The habitat of plant and animals that live in
water is called the _________ habitat.

II. The habitat of plant and animals that live in
land is called the _______ habitat.

III. Saline water and hot air are _____________
components of a habitat.

(1) I – aquatic, II – terrestrial, III – biotic

(2) I – terrestrial, II – aquatic, III – biotic

(3) I – aquatic, II – terrestrial, III – abiotic

(4) I – terrestrial, II – aquatic, III – abiotic

36- (i) xnZu esa xzafFk; ka l wt h gqbZ fn• kbZ nsrh gSaA
(ii) cPpksa esa ekufl d fodykaxrkA
mi jksÙkQ y{k.k bl dh deh ds dkj .k l s fn[ krh gS &
(1) vk; ksMhu (2) dSfY' k; e
(3) vk; ju (4) foVkfeu B1

37- buesa l s fHkUu dks pqusa%
(1) ofrZdkxz (2) ofrZdk
(3) rarq (4) vaMk' k;

38- f' kjkfoU; kl  D; k gS \
(1) rus i j  f' kjkvksa dh O; oLFkkA
(2) i Ùkh i j  f' kjkvksa dk i SVuZA
(3) vaMk' k;  esa cht  dh O; oLFkkA
(4) , d l s vf/ d fodYi  l gh gSaA

39- fn,  x,  fp=k esa xyr yscfyax dk p; u djsaA

A

B

C

(1) A & t ka?k dh gî óh
(2) B & dwYgs dh gî óh
(3) C & ckWy vkSj l kWdsV t ksM+
(4) mi jksÙkQ esa l s dksbZ ugha

40- I. l kai ksa esa es: naM yach gksrk gS vkSj cgqr l kjh i ryh ekal i sf' k; ka
gksrh gSaA

II. dsapqvksa esa vfLFk; ksa dh deh gksrh gS] os pyus ds fy,  v i uh
ekal i sf' k; ksa dks fl dksM+ vkSj f' kfFky dj  l drs gSaA

III. ?kksa?ks dk dop , dy gksrk gS vkSj ; g ?kksa?kk dks pyus esa dksbZ
l gk; rk ugha djrkA

l gh dFku pqusa-
(1) dsoy I (2) I vkSj II nksuksa
(3) dsoy III (4) mi jksÙkQ l Hkh

41- fjÙkQ LFkku Hkjsa%
I. i kuh esa jgus okys i kS/ ksa vkSj t kuojksa ds vkokl  dks _________

vkokl  dgk t krk gSA
II. Hkwfe i j  jgus okys i kS/ s vkSj t kuojksa dks _________ vkokl

dgk t krk gSA
III. • kjk i kuh vkSj xeZ gok vkokl  ds _________ ?kVd gSaA
(1) I - t yh; ] II - LFkyh; ] III - t Sfod
(2) I - LFkyh; ] II - t yh; ] III - t Sfod
(3) I - t yh; ] II - LFkyh; ] III - vt Sfod
(4) I - LFkyh; ] II - t yh; ] III - vt Sfod
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42. Sloths lives for about ______ years.
(1) 10 (2) 40 (3) 100 (4) 90

43. How many are the source of iron ?

Spinach, Apple, Milk, Egg, Ginger, Cumin

(1) One (2) Two (3) Four (4) Five
44. Match the Columns :

Column I Column II
(a) Parallel venation (i) Pumpkin
(b) Reticulate venation (ii) Money plant
(c) Creepers (iii) Leaves of grass
(d) Climbers (iv) Leaves of peepal tree
(1) (a-iii), (b-iv), (c-i), (d-ii)
(2) (a-iii), (b-iv), (c-ii), (d-i)
(3) (a-iv), (b-iii), (c-i), (d-ii)
(4) (a-iv), (b-iii), (c-ii), (d-i)

45. The composition of oxygen gas in the atmosphere
is :
(1) 78% (2) 21% (3) 1% (4) 0.23%

46. Photosynthesis in cactus plants is usually
carried out by the :
(1) Leaf (2) Root
(3) Both (1) and (2) (4) Stem

47. Which of the following is not a source of
vitamin C ?
(1) Amla (2) Green chilli
(3) Carrot (4) Tomato

48. Choose odd one out on the basis of axial skeleton:
(1) Pelvic girdle (2) Skull
(3) Sternum (4) Vertebral column

49. A new plant grow from a bud, mainly seen in :
(1) Potato (2) Bryophyllum
(3) Water hyacinth (4) Pea

50. The animal shown in the given figure moves
with the help of an organ called :

(1) Fin (2) Tentacles
(3) Muscular foot (4) Gill

51. The sum of first three common multiples of
3, 4 and 9 is :
(1) 108 (2) 144 (3) 252 (4) 216

52. The product of successor and predecessor of 999
is :
(1) 999000 (2) 998000 (3) 989000 (4) 1998

42- LykWFk yxHkx ______ o"kks± rd t hfor jgrk gSA
(1) 10 (2) 40 (3) 100 (4) 90

43- vk; ju ds l zksr fdrus gSa \

i kyd] l sc] nw/ ] vaMk] vnjd] t hjk
(1) , d (2) nks (3) pkj (4) i k¡p

44- LrEHkksa dk feyku djsa%
LraHk-I LraHk-II

(a) l ekukarj  f' kjkfoU; kl (i) díw
(b) t kfydk : i h f' kjk foU; kl (ii) euh IykaV
(c) fol i hZ yrk (iii) ?kkl  dh i fÙk; k¡
(d) vkjksgh yrk (iv) i hi y ds i sM+ dh i fÙk; k¡
(1) (a-iii), (b-iv), (c-i), (d-ii)
(2) (a-iii), (b-iv), (c-ii), (d-i)
(3) (a-iv), (b-iii), (c-i), (d-ii)
(4) (a-iv), (b-iii), (c-ii), (d-i)

45- ok; qeaMy esa vkWDl ht u xSl  ds ?kVd gS%
(1) 78% (2) 21%
(3) 1% (4) 0.23%

46- dSDVl  ds i kS/ ksa esa çdk' k l a' ys"k.k l kekU; r% fdl ds }kjk fd; k
t krk gS\
(1) i Ùkh }kjk (2) t M+ }kjk
(3) (1)  vkSj (2) nksuksa (4) ruk }kjk

47- fuEufyf• r esa l s dkSu l k foVkfeu-C dk l zksr ugha gS\
(1) vkaoyk (2) gjh fepZ
(3) xkt j (4) VekVj

48- v{kh;  dadky ds vk/ kj  i j  fo"ke dk p; u djsa%
(1) Jksf.k vfLFk; k¡ (2) • ksi M+h
(3) mjksfLFk (4) es: naM ( jhM+)

49- , d dyh l s , d u; k i kS/ k mxrk gS] eq[ ;  : i  l s ns• k t krk gS%
(1) vkyw (2) czk; ksi Qk; ye
(3) t ydqaHkh (4) eVj

50- fn,  x,  fp=k esa fn• k; k x; k t kuoj  , d vax dh enn l s pyrk
gS ft l s dgrs gSa%

(1) fi Qu (2) VsaVsdYl
(3) ekal y i Sj (4) xyi QM+k

51. 3] 4 vkSj 9 ds i zFke rhu l kekU;  xq.kt ksa dk ; ksx gS%
(1) 108 (2) 144 (3) 252 (4) 216

52. 999 ds mÙkjorhZ vkSj i woZorhZ dk xq.kui Qy gS%

(1) 999000 (2) 998000 (3) 989000 (4) 1998
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53. In a colony of 100 blocks of flats numbering
1 to 100, a school van stops at every sixth block
while a school bus stops at every tenth block.
On which stops will both of them stop if they start
from the entrance of the colony ?
(1) 30, 60, 90 (2) 40, 60, 70
(3) 30, 50, 90 (4) 50, 40, 30

54. The numbers which are not multiples of 2 are
called ________ numbers.
(1) Even (2) Odd
(3) Prime (4) Composite

55. Find the greatest number which will divide the
greatest 4-digit number and the greatest 5-digit
number exactly.
(1) 9 (2) 8 (3) 7 (4) 3

56. In the given figure, line l, m and n are called
_____ lines.

O

l

m
n

(1) Collinear (2) Parallel
(3) Concurrent (4) Transversal

57. Which of the following statements is INCORRECT?
(1) A line segment has two end points.
(2) A line has no end points.
(3) A ray has only one end point.
(4) A line is same as a ray.

58. The angle that the hands of a clock make at
5 O’clock is ________ .

12 1
2
3

4
567

8
9
10

11

(1) Acute (2) Obtuse
(3) Right (4) Straight

59. A quadrilateral-shaped photo-frame has all sides
equal. Which of the following is not a possible
shape for the photo-frame.
(1) Square (2) Trapezium
(3) Rhombus (4) None of these

60. Which of the following is incorrect ?
(1) Positive integer > zero > negative integer
(2) Positive integer > negative integer < zero
(3) Zero < positive integer > negative integer
(4) Positive integer > zero < negative integer

53. 1 l s 100 rd Øekafdr ÝySVksa ds 100 CykWdksa dh , d dkWyksuh
esa gj  NBs CykWd i j  , d Ldwy oSu : drh gS t cfd gj  10 osa
CykWd i j  , d Ldwy cl  : drh gSA ; fn os nksuksa dkWyksuh ds i zos' k
}kj  l s i zkjaHk djsa rks os fdl  LVkWi  i j  : dsaxs\
(1) 30] 60] 90 (2) 40] 60] 70

(3) 30] 50] 90 (4) 50] 40] 30

54. os l a[ ; k, ¡ t ks 2 ds xq.kt  ugha gSa] ________ l a[ ; k, ¡ dgykrh gSaA
(1) l e (2) fo"ke
(3) vHkkT; (4) l a; qDr

55. og l cl s cM+h l a[ ; k Kkr dhft ,  t ks 4 vadksa okyh l cl s cM+h
l a[ ; k vkSj 5 vadksa okyh l cl s cM+h l a[ ; k dks i w.kZr% foHkkft r dj
nsA
(1) 9 (2) 8 (3) 7 (4) 3

56. fn,  x,  fp=k esa] js• k l] m vkSj n dks _________ js• k, ¡ dgk
t krk gSA

O

l

m
n

(1) l ajs• (2) l ekukUrj
(3) l eorhZ (4) vuqçLFk

57. fuEufyf• r esa l s dkSu l k dFku xyr gS\
(1) , d js• k• aM ds nks vafre fcanq gksrs gSaA
(2) , d js• k dk dksbZ vafre fcanq ugha gksrkA
(3) fdj .k dk dsoy , d gh vafre fcanq gksrk gSA
(4) js• k fdj .k ds l eku gksrh gSA

58. 5 ct s ?kM+h dh l qb; k¡ ________ dks.k cukrh gSA

12 1
2
3

4
567

8
9
10

11

(1) U; wu dks.k (2) vf/ d dks.k
(3) l edks.k (4) ½t q dks.k

59. , d prqHkZqt  vkdkj  ds i QksVks&Úse dh l Hkh Hkqt k, ¡ cjkcj  gSaA
fuEufyf• r esa l s dkSu l k i QksVks&Úse ds fy,  l aHkkfor vkdkj  ugha gSA
(1) oxZ (2) l eyEc prqHkZqt
(3) l eckgq prqHkqZt (4) buesa l s dksbZ ugha

60. fuEufyf• r esa l s dkSu l k xyr gS\
(1) / ukRed i w.kkZad > ' kwU;  > ½.kkRed i w.kkZad
(2) / ukRed i w.kkZad > ½.kkRed i w.kkZad < ' kwU;
(3) ' kwU;  < / ukRed i w.kkZad > ½.kkRed i w.kkZad
(4) / ukRed i w.kkZad > ' kwU;  < ½.kkRed i w.kkZad
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61. Match the following.
Column I Column II

(i) The additive inverse of 2 (a) 0
(ii) The greatest negative (b) –2

integer
(iii) The smallest integer (c) 2

greater than every
negative integer

(iv)In integer, sum of (d) –1
predecessor and
successor of 1

(1) (ic), (iid), (iiia), (ivb)
(2) (ib), (iid), (iiia), (ivc)
(3) (ic), (iid), (iiib), (iva)
(4) (ib), (iic), (iiia), (ivd)

62. What should be placed in the place of ‘?’ so that
the sum of fractions on each side of the triangle
is same ?

1
15

2
15

?

4
15

5
15

5
15

(1)
7

15 (2)
9

15 (3)
6

15 (4)
8

15

63. Write the equivalent fractions represented by
the shaded portions of the given figures.

=

(1)
2 3

10 5
 (2)

6 2
15 5

 (3)
6 2

10 5
 (4)

3 1
15 5



64. Which number is equal to 
0.5 0.05

0.05 0.5
  
 

 ?

(1) 10.1 (2) 1.10 (3) 9.9 (4) 99.0

65. Prerna had j  5000. She bought 2 boxes of
chocolates for j  52.98 each, 3 packets of chips
for j  12.98 each and 2 books for j  300.05 each.
how much money left with her ?

(1) j  4255 (2) j  4750 (3) j  4000 (4) j  3875

61. fuEufyf• r dk feyku djsaA
LraHk-I LraHk-II

(i) 2 dk ; ksxkRed O; qRØe (a) 0

(ii) l cl s cM+k Í .kkRed i w.kk±d (b) –2

(iii) çR; sd ½.kkRed i w.kkZad l s (c) 2

cM+k] l cl s NksVk i w.kkZad
(iv)1 ds i woZorhZ vkSj mÙkjorhZ (d) –1

 i w.kkZdksa dk ; ksx
(1) (ic), (iid), (iiia), (ivb)

(2) (ib), (iid), (iiia), (ivc)

(3) (ic), (iid), (iiib), (iva)

(4) (ib), (iic), (iiia), (ivd)

62. ‘?’ ds LFkku i j  D; k j • k t kuk pkfg,  rkfd f=kHkqt  dh çR; sd Hkqt k
i j  fHkUuksa dk ; ksx l eku gks\

1
15

2
15

?

4
15

5
15

5
15

(1)
7

15 (2)
9

15 (3)
6

15 (4)
8

15

63. nh xbZ vkÑfr; ksa ds Nk; kafdr Hkkxksa }kjk fu: fi r l erqY;  fHkUuksa dks
fyf• , A

=

(1)
2 3

10 5
 (2)

6 2
15 5

 (3)
6 2

10 5
 (4)

3 1
15 5



64.
0.5 0.05

0.05 0.5
  
 

 dkSu l h l a[ ; k fdl ds cjkcj  gS \

(1) 10.1 (2) 1.10 (3) 9.9 (4) 99.0

65. çsj .kk ds i kl  5000 : i ; s FksA ml us pkWdysV ds 2 fMCcs
52.98 : i ; s esa] fpIl  ds 3 i SdsV 12.98 : i ; s esa vkSj 2 fdrkcsa
300.05 : i ; s esa • jhnhaA ml ds i kl  fdruk i Sl k cpk\
(1) j  4255 (2) j  4750

(3) j  4000 (4) j  3875
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Direction (Q. 66-67) : Study the given table carefully
and answer the following questions.

Schools Number of trees planted
A
B

D
C

E

66. How many schools have planted more than
7 trees ?

(1) 4 (2) 3 (3) 2 (4) 5

67. Find the total number of trees planted by all the
five schools.

(1) 28 (2) 30 (3) 32 (4) 42

68. There is a rectangular lawn 10 m long and 4 m
wide infront of Meena’s house (Fig.). It is fenced
along the two smaller sides and one longer side
leaving a gap of 1 m for the entrance. Find the
length of fencing.

(1) 17 m (2) 28 m (3) 22 m (4) 18 m

69. The lawn in front of Molly’s house is 12m × 8m,
whereas the lawn in front of Dolly’s house is
15m × 5m. A bamboo fencing is built around both
the lawns. How much fencing is required for both ?

(1) 60 m (2) 70 m (3) 80 m (4) 75 m

70. A magazine charges j  300 per 10 sqcm area for
advertising. A company decided to order a half
page advertisment. If each page of the magazine
is 15 cm × 24 cm, what amount will the company
has to pay for it ?

(1) j  5200 (2) j  5400

(3) j  5600 (4) j  4800

71. Amulya is x years of age now. 5 years ago her
age was :

(1) (5 – x) years (2) (5 + x) years

(3) (x – 5) years (4) (5  x) years

72. Sanjay had s eggs. He used 8 eggs to bake a cake
and 7 eggs were broken. Which expression shows
the number of eggs left with him ?

(1) 15s – 1 (2) 15 – s

(3) s – 15 (4) 1 – 15s

funZs' k (ç. 66&67)% nh xbZ rkfydk dk è; kui woZd vè; ; u djsa
vkSj fuEufyf• r ç' uksa ds mÙkj nsaA

A

B
C
D

E

66. fdrus fo| ky; ksa esa 7 l s T; knk i sM+ yxk; s x,  gS\
(1) 4 (2) 3 (3) 2 (4) 5

67. l Hkh i kap fo| ky; ksa }kjk yxk,  x,  i sM+ksa dh dqy l a[ ; k Kkr dhft , A

(1) 28 (2) 30 (3) 32 (4) 42

68. ehuk ds ?kj  ds l keus 10 ehVj yack vkSj 4 ehVj pkSM+k , d
vk; rkdkj  ykWu gS (fp=k)A bl s nks NksVh Hkqt kvksa vkSj , d yach
Hkqt kvksa l s ?ksjk x; k gS vkSj ços' k }kj  ds fy,  1 ehVj dk [ kkyh
t xg NksM+k x; k gSA ckM+ dh yackbZ Kkr dhft , A

(1) 17 ehVj (2) 28 ehVj (3) 22 ehVj (4) 18 ehVj
69. ekSyh ds ?kj  ds l keus dk ykWu 12m × 8m gS] t cfd MkWyh ds

?kj  ds l keus dk ykWu 15m × 5m gSA nksuksa ykWu ds pkjksa vksj
ckal  dh ckM+ cukbZ xbZ gSA nksuksa ds fy,  fdruh ckM+ yxkuk
vko' ; d gS\
(1) 60 ehVj (2) 70 ehVj (3) 80 ehVj (4) 75 ehVj

70. , d i f=kdk foKki u ds fy,  çfr 10 oxZ l seh {ks=k i j  j  300 dk
' kqYd ysrh gSA , d dai uh us vk/ s i st  ds foKki u dk vkWMZj nsus
dk fu.kZ;  fy; kA ; fn i f=kdk dk çR; sd i "̀B 15 l seh × 24 l seh
gS] rks dai uh dks bl ds fy,  fdruh jkf' k dk Hkqxrku djuk gksxk\
(1) j  5200 (2) j  5400

(3) j  5600 (4) j  4800

71. vewY; k dh mez vHkh x o"kZ gSA 5 o"kZ i gys ml dh mez Fkh%

(1) (5 & x) o"kZ (2) (5 $ x) o"kZ

(3) (x – 5) o"kZ (4) (5 ÷ x) o"kZ

72. l at ;  ds i kl  s vaMs FksA ml us dsd cukus ds fy,  8 vaMksa dk
mi ; ksx fd; k vkSj 7 vaMs VwV x, A dkSu&l h vfHkO; fÙkQ ml ds i kl
cps vaMksa dh l a[ ; k n' kkZrh gS\
(1) 15s – 1 (2) 15 – s

(3) s – 15 (4) 1 – 15s
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73. Sunil has j  35 in his metro card but his journey
costs j  42. What amount will be shown by the
machine in the card at the time of exit ?

(1) j  7 (2) j  (–7) (3) j  (–9) (4) j  6
74. Which of the following are not in proportion ?

(1) 7, 12, 805, 1380 (2) 16, 28, 4, 7
(3) 150, 100, 135, 90 (4) 51, 85, 57, 98

75. Find the area of given figure.

2 cm

3 cm

2 cm

3 cm

6 cm

3 cm

1 cm

1 cm
1.5 cm

(1) 25.5 cm2 (2) 23.5 cm2 (3) 25 cm2 (4) 24 cm2

76. Which of the following pair of line segments are
non-intersecting ?

E F

A B

C
G

D
H

(1) AB, EG (2) AB, FH (3) FH, CD (4) AB, CD
77. The expression obtained when x is multipled by

2 and then subtracted from 3 is :
(1) 2x – 3 (2) 2x + 3 (3) 3 – 2x (4) 3x – 2

78. A recipe calls for 1 cup of milk for every 
12
2  cups

of flour to make a cake that would feed 6 persons.
How many cups of both flour and milk will be
needed to make a similar cake for 8 people ?

(1)
24
3  cups (2)

43
2 cups

(3)
14
3 cups (4)

23
5 cups

79. If a note book costs j  p and a pencil costs j  3,
then the total cost (in Rs) of two note books and
one pencil.
(1) 4p – 3 (2) 2p + 6
(3) 2p + 1 (4) 2p + 3

73. l quhy ds esVªks dkMZ esa j 35 gSa ysfdu ml dh ; k=kk dk • pZ j  42
gSA ckgj  fudyus ds l e;  e' khu dkMZ esa fdruh jkf' k fn• k, xh\

(1) j  7 (2) j  (–7) (3) j  (–9) (4) j  6
74. fuEufyf• r esa l s dkSu l k l ekuqi kr esa ugha gS\

(1) 7] 12] 805] 1380 (2) 16] 28] 4] 7
(3) 150] 100] 135] 90 (4) 51] 85] 57] 98

75. nh xbZ vkÑfr dk {ks=ki Qy Kkr dhft , A

2 cm

3 cm

2 cm

3 cm

6 cm

3 cm

1 cm

1 cm
1.5 cm

(1) 25.5 l seh2 (2) 23.5 l seh2 (3) 25 l seh2 (4) 24 l seh2

76. fuEufyf• r esa l s js• k• aMksa dk dkSu l k ; qXe vçfrPNsnh gS\

E F

A B

C
G

D
H

(1) AB, EG (2) AB, FH

(3) FH, CD (4) AB, CD

77. t c x dks 2 l s xq.kk fd; k t krk gS vkSj fi Qj  3 l s ?kVk; k t krk gS]
rks çkIr vfHkO; fÙkQ gS%
(1) 2x – 3 (2) 2x + 3 (3) 3 – 2x (4) 3x – 2

78. , d uqL• k esa , d dsd cukus ds fy,  çR; sd di  vkVs ds fy,  
12
2

di  nw/  dh vko' ; drk gksrh gS t ks 6 O; fÙkQ; ksa dks f• yk, xkA 8
yksxksa ds fy,  l eku dsd cukus ds fy,  fdrus di  vkVk vkSj nw/
nksuksa dh vko' ; drk gksxh\

(1)
24
3  di (2)

43
2 di

(3)
14
3 di (4)

23
5 di

79. ; fn , d uksVcqd dh dher j  p vkSj , d i safl y dh dher  j  3
gS] rks nks uksVcqd vkSj , d i safl y dh dqy ykxr (#i ; s esa) gksxhA
(1) 4p – 3 (2) 2p + 6

(3) 2p + 1 (4) 2p + 3
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80. Study the following statements and select the
correct option.
Statement-I : The fraction of prime numbers

1 and 3 is 
1
3 .

Statement-II : Ajay spent 
12
6  hours in reading

a story book and spent 
1
3  of an hour in playing

game. So, total time spent in all by him is

12
2  hours.

(1) Both Statement-I and Statement-II are true.
(2) Both Statement-I and Statement-II are false.
(3) Statement-I is true but Statement-II is false.
(4) Statement-I is false but Statement-II is true.

81. Insert the missing numerical value in following
questions.

4 3

43
25

5 6

56
61

7 8

78
?

(1) 64 (2) 113 (3) 49 (4) 15
82. Arrange the following in a meaninful sequence.

I. Consultation II. Illness
III.Doctor IV. Treatment
V. Recovery
(1) II, III, I, IV, V (2) II, III, IV, I, V
(3) IV, III, I, II, V (4) V, I, IV, III, II

83. How many 5s are there in the following number
sequence which are immediately followed by
2 and immediately preceded by 7 ?
6, 5, 4, 3, 7, 5, 2, 3, 7, 8, 5, 2, 5, 7, 7, 5, 2, 7, 5, 3,
1, 4, 7, 5, 2, 3, 5, 2
(1) Nil (2) One (3) Two (4) Three

84. Three terms are alike in some way and so form
a group while one is different than others.
Identify the term that does not belong to that
group.
(1) Himachal Pradesh (2) Punjab
(3) Haryana (4) Chandigarh

85. In this question two words are given, they have
a certain relationship to each other, four
alternatives each with one pair of words are
given. Select the pair which has same
relationship as the original pair of words has.

Doctor : Hospital
(1) Plumber : Wrench (2) Chef : Kitchen
(3) Water : Drink (4) Farmer : Tractor

80. fuEufyf• r dFkuksa dk vè; ; u djsa vkSj l gh fodYi  pqusaA

dFku&I % vHkkT;  l a[ ; k 1 rFkk 3 dk fHkUu 
1
3  gSA

dFku&II % vt ;  us dgkuh dh , d fdrkc i <+us esa 
12
6  ?kaVksa

fcrk,  vkSj • sy • syus esa 
1
3  ?kaVk fcrk; kA rks] ml ds }kjk fcrk; k

x; k dqy l e;  
12
2  ?kaVs gSA

(1) dFku&I vkSj dFku&II nksuksa l R;  gSaA

(2) dFku&I vkSj dFku&II nksuksa xyr gSaA

(3) dFku&I l R;  gS ysfdu dFku&II xyr gSA

(4) dFku&I xyr gS ysfdu dFku&II l R;  gSA

81. fuEufyf• r ç' uksa esa yqIr l a[ ; kRed eku MkysaA

4 3

43
25

5 6

56
61

7 8

78
?

(1) 64 (2) 113 (3) 49 (4) 15

82. fuEufyf• r dks vFkZi w.kZ Øe esa O; ofLFkr djsaA
I. i jke' kZ II. chekjh
III.MkWDVj IV. bykt
V. LokLF;  ykHk
(1) II, III, I, IV, V (2) II, III, IV, I, V
(3) IV, III, I, II, V (4) V, I, IV, III, II

83. fuEufyf• r l a[ ; k Øe esa fdrus 5 gSa ft uds Bhd ckn  2 vkSj
Bhd i gys 7 vkrk gS\
6] 5] 4] 3] 7] 5] 2] 3] 7] 8] 5] 2] 5] 7] 7] 5] 2] 7]
5] 3] 1] 4] 7] 5] 2] 3] 5] 2
(1) ' kwU; (2) , d (3) nks (4) rhu

84. rhu i n fdl h rjg l s , d t Sl s gSa vkSj bl fy,  , d l ewg cukrs gSa
t cfd , d vU;  l s fHkUu gSA ml  ' kCn dks i gpkusa t ks ml  l ewg
l s l acaf/ r ugha gSA
(1) fgekpy çns' k (2) i at kc
(3) gfj ; k.kk (4) paMhx<+

85. bl  ç' u esa nks ' kCn fn,  x,  gSa] mudk , d&nwl js l s , d fuf' pr
l aca/  gS] ' kCnksa ds , d t ksM+s ds l kFk pkj  fodYi  fn,  x,  gSaA ml
; qXe dk p; u djsa ft l dk l aca/  ewy ' kCn ; qXe ds l eku gSA
MkWDVj% vLi rky
(1) uyl kt  % fjap (2) ckophZ % j l ksbZ
(3) t y % i huk (4) fdl ku % VªSDVj



Class-VI (Main)/016

86. Find the missing term in the following series.
11, 23, 48, 99, ......., 409

(1) 202 (2) 212 (3) 102 (4) 216
87. If A denotes , B denotes +, C denotes – and D

denotes ×, then which of the following is not true?
(1) 24 A 6 B 10 = 5 D 6 C 16
(2) 60 – 4 D 6 = 4 B 2 D 6
(3) 30 D 4 A 12 = 30 A 12 D 4
(4) 108 C 72 = 78 C 42

88. In this question four problem figures are given.
Select a figure from amongst the answer
diagrams which will continue the same series
as given in the problem figures.
Problem Figures

?

Answer Figures

(1) (2) (3) (4)

89. If Mohan says that his mother is the only
daughter of Shyam’s mother, how is Shyam
related to Mohan ?
(1) Son (2) Father
(3) Sister (4) Maternal uncle

90. Figures (A), (B), (C) and (D) constitute the
problem set while (1), (2), (3) and (4) constitute
answer sets. There is a definite relationship
between figures (A) and (B), establish a similar
relationship between figures (C) and (D) by
choosing a suitable figure from answer set.
Problem Figures

?

(A) (B) (C) (D)
Answer Figures

(1) (2)

(3) (4)

91. Choose the figure which is different from other
figures.

(1)
×

×
(2)

×

×

(3)
× ×

(4)
×

×

86. fuEufyf• r Jà• yk esa yqIr i n Kkr dhft , A
11] 23] 48] 99] .......] 409
(1) 202 (2) 212 (3) 102 (4) 216

87. ; fn A  dks n' kkZrk gS] B + dks n' kkZrk gS] C  – dks n' kkZrk gS] vkSj
D × dks n' kkZrk gS] rks fuEufyf• r esa l s dkSu l k l R;  ugha gS\
(1) 24 A 6 B 10 = 5 D 6 C 16
(2) 60 – 4 D 6 = 4 B 2 D 6
(3) 30 D 4 A 12 = 30 A 12 D 4
(4) 108 C 72 = 78 C 42

88. bl  ç' u esa pkj  i z' u fp=k fn; s x; s gSaA mÙkj vkjs• ksa esa l s , d
vkÑfr dk p; u djsa t ks i z' u fp=k esa nh xbZ ml h Jà• yk dks t kjh
j • sxhA
i z' u fp=k

?

mÙkj  fp=k

(1) (2) (3) (4)

89. ; fn eksgu dgrk gS fd ml dh ek¡] ' ; ke dh ek¡ dh bdykSrh csVh
gS] rks ' ; ke dk eksgu l s D; k l aca/  gS\
(1) csVk (2) fi rk
(3) cgu (4) ekek

90. fp=k (A), (B), (C)vkSj (D) i z' u l sV dk xBu djrs gSa t cfd
(1)] (2)] (3) vkSj (4) mÙkj l sV dk xBu djrs gSaA fp=k
(A) vkSj (B) ds chp , d i fjHkkf"kr l aca/  gS] mÙkj l sV l s , d
mi ; qÙkQ fp=k pqudj fp=k (C) vkSj (D) ds chp , d l eku l aca/
LFkkfi r djsaA
i z' u fp=k

?

(A) (B) (C) (D)

mÙkj  fp=k

(1) (2)

(3) (4)

91. og vkÑfr pqusa t ks vU;  vkÑfr; ksa l s fHkUu gksA

(1)
×

×
(2)

×

×

(3)
× ×

(4)
×

×
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92. In the question, a problem figure is given, which
is incomplete. One out of the four answer figures
(1), (2), (3) and (4) can complete the same. You
have to locate the answer figure which if
inserted in the problem figure, without changing
the direction, completes the same.

?

(1) (2)

(3) (4)

93. Janki started from her house and walked 2 km
towards North. Then, she took a right turn and
covered 1 km, then she again took a right turn
and walked for 2 km. In which direction is she
going ?
(1) North (2) East (3) South (4) West

94. In this question a figure (X) followed by four
figures (1), (2), (3) and (4) such that (X) is
embedded in one of them. Trace out the correct
alternative.

(X)

(1) (2) (3) (4)

95. Choose the correct mirror image of the figure
(X) from amongst the four alternatives
(1), (2), (3) and (4) given along with it.

GOAL
(X)

(1) (2)

(3) (4)

96. Pointing to a photograph, a woman says, "This
man's son's sister is my mother-in-law". How is
the woman's husband related to the man in the
photograph?
(1) Grandson (2) Son
(3) Son-in-law (4) Nephew

92. ç' u esa , d i z' u fp=k fn; k x; k gS] t ks v/ wjk gSA pkj  mÙkj
vkÑfr; ksa (1)] (2)] (3) vkSj (4) esa l s , d bl s i wjk dj  l drk
gSA vki dks mÙkj vkÑfr dk i rk yxkuk gS] ft l s ; fn i z' u vkÑfr
esa Mkyk t k, ] rks fn' kk cnys fcuk] og vkÑfr i w.kZ gks t krh gSA

?

(1) (2)

(3) (4)

93. t kudh vi us ?kj l s pydj  mÙkj dh vksj  2 fdeh pyhA fi Qj] og
nkbZa vksj  eqM+h vkSj 1 fdeh pyh] fi Qj  og fi Qj  nkbZa vksj  eqM+h vkSj
2 fdeh pyhA og fdl  fn' kk esa t k jgh gS\

(1) mÙkj (2) i woZ (3) nf{k.k (4) i f' pe

94. bl  ç' u esa , d vkÑfr (X) ds ckn pkj vkÑfr; k¡ (1)] (2)] (3)
vkSj (4) bl  çdkj  gSa fd (X) muesa l s , d esa varfuZfgr gSA l gh
fodYi  dk i rk yxk, ¡A

(X)

(1) (2) (3) (4)

95. vkÑfr (X) ds l kFk fn,  x,  pkj fodYi ksa (1)] (2)] (3) vkSj (4)
esa l s l gh ni Z.k Nfo pqusaA

GOAL
(X)

(1) (2)

(3) (4)

96. , d rLohj dh vksj  b' kkjk djrs gq, ] , d efgyk dgrh gS] ^̂bl
vkneh ds csVs dh cgu esjh l kl  gS**A efgyk ds i fr dk rLohj
esa fn[ k jgs i q: "k l s D; k l aca/  gS\
(1) ukrh (2) csVk

(3) nkekn (4) Hkrht k
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97. There is a definite relationship between figures
(A) and (B), establish a similar relationship
between figures (C) and (D) by choosing a suitable
figure from answer set.

: ?

(A) (B) (C) (D)

(1) (2) (3) (4)

98. If DELHI is coded as 73541 and CALCUTTA as
82589662, how can CALICUT be coded ?

(1) 5279431 (2) 5978213

(3) 8251896 (4) 8543691

99. Insert the missing numerical value in this
question.

10
3

7

12
?

13

9

4

(1) 9 (2) 7 (3) 8 (4) 6

100. How many triangles are there in the following
figure ?

(1) 10 (2) 14 (3) 24 (4) 20

97. vkÑfr; ksa (A) vkSj (B) ds chp , d fuf' pr l aca/  gS] mÙkj l sV
l s ,d mi ; qÙkQ vkÑfr dk p; u djds vkÑfr; ksa (C) vkSj (D) ds
chp l eku l aca/  LFkkfi r djsaA

: ?

(A) (B) (C) (D)

(1) (2) (3) (4)

98. ; fn DELHI dks 73541 vkSj CALCUTTA dks 82589662
ds : i  esa dksfMr fd; k x; k gS] rks CALICUT dks dSl s dksfMr
fd; k t k l drk gS\
(1) 5279431 (2) 5978213
(3) 8251896 (4) 8543691

99. bl  ç' u esa yqIr l a[ ; kRed eku MkysaA

10
3

7

12
?

13

9

4

(1) 9 (2) 7 (3) 8 (4) 6

100. fuEufyf• r vkÑfr esa fdrus f=kHkqt  gSa\

(1) 10 (2) 14 (3) 24 (4) 20
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1.
2.
3.
4.
5.
6.
7.
8.
9.
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.

(2)

(4)

(1)

(3)

(2)

(2)

(1)

(4)

(4)

(3)

(4)

(2)

(1)

(2)

(3)

(1)

(4)

(2)

(3)

(3)

(2)

(4)

(3)

(2)

(1)

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.

51.
52.
53.
54.
55.
56.
57.
58.
59.
60.
61.
62.
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.
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ANSWER KEY
CLASS - 6

76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94.
95.
96.
97.
98.
99.
100.

(4)

(4)

(2)

(4)

(1)

(4)

(3)

(3)

(2)

(2)

(1)

(3)

(2)

(4)

(4)

(3)

(2)

(2)

(1)

(2)

(4)

(3)

(1)

(1)

(3)

(4)

(2)

(1)

(2)

(1)

(3)

(4)

(2)

(2)

(4)

(2)

(4)

(2)

(3)

(1)

(2)

(4)

(1)

(3)

(2)

(3)

(3)

(2)

(4)

(1)

(4)

(3)

(1)

(4)

(1)

(2)

(1)

(3)

(4)

(2)

(1)

(2)

(1)

(4)

(4)

(3)

(2)

(3)

(3)

(4)

(1)

(1)

(3)

(4)

(3)
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